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This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt All the questions.

Pl wawAnl v (M0) aglisedly ual 8. £3s sl A(R) g B,

WYL MRl G @il

Author of the book ‘Political Liberalism’ is :

(a) J.S. Mill (B) T. H. Green
(C) F. V. Hayek D) John Rawls
‘Uldse derudlomn’ st dus sia 87

@) .2, Ya ®) .z, A
(€ ds.l. w1ds D) ¥l AR

Who linked the idea of distributive justice with proportionate equality to mean
just rewards ?

(A) Plato (B) Aristotle

(C) John Rawls (D) Nozick

gl Wdicnar adaeli-t —puud ll seal’ Wl S9 wiswd B7
A) aal B) A[eiey

(C) %l A ¢ D) ~iAls

Hobbes was describe as a thinker of possessive individualism by which of the
following scholars ?

(A) Oakshott (B} Warrender

(C) Macpherson (D) Ascheroft

QA 2Alen Qi sul Rgd sisid [acies aliqae’ A Bids 4
L] 7

(A) >isdie (B) dix-s3

(C)  AsHRAA @) vlusise
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Given below are the List of authors and books. Match them by using the
codes given below :

List 1 - List 11

(@) Hobbes (1) Prison Note Books
() Lenin (2) Anarchy, State and Utopia
(0 Gramsci (8) Leviathan
(d) Nozick (4) The State and Revolution
Code : |

(@ () (s (D)
(A) 1 2 3 4
(B) 3 4 1 2
(©) 4 3 2 1
D) 2 1 4 3

gl (1) 1 Jeas Qusii 4 vy 8. wdl () wi sl Ml sl
8. el sisl Guuldl 53R ol WEliA Anal

yiel-4 Yel-=2
(@ i 1) Mo dt2esy
® alfA @ ‘audl, we, yeilwy
© wHél Guxrl) @3 ‘AR’
@ ~iAls (4 ‘4 w2 WS Iaeyat’
sis ¢

(@) ) © (d)

(A) 1 2 3 4
(B) 3 4 1 2
© 4 3 2 1
D) 2 1 4 3
Who among the following did not speak of decline of Political theory ?
(A) Berlin (B) Cobban
(C) Dahl (D) Lasswell
QA 2al Rariell st ‘Axfly Raidll usdl Al ad s 4?
(a) ald= (B) sioie
©) Stsd O) ardd
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6. Who proposed ‘Constructive Programme’ as integral part of Swaraj ?

(A) Bal Gangadhar Tilak (B) Mahatma Gandhi
(C) Moti Lal Nehru D) C. R. Das
AFUAL MY ‘RaUcts sidsn’ L RBuud sid 530 edl?
(A)  enadidug: Qas (B) sl ]

©) Hidlawa e3 ®) A.2u2. elA

1. In which one of the following books Karl Marx formulated the idea of “To
each according to his ability, to each according to his needs” ?
(A) Critique of the Gotha Programme
(B) Das Capital
(C) Communist Manifesto
D) Civil war in France

std MR s YacsHl AR ‘B3 il al3d AR, £33 Wil a3Rwd
waAR' -l Rigld ufawulza sul edi?

@A) ‘Slds s 9 ot MR’
B) ‘el sfuew’

© ‘sxyllze Alsel

@) Afdla qalz S s’

8. In the book ‘End of history and the last man’ Francis Fukuyama declares
the victory of :

(A) Liberal Capitalism
(B) Social Democracy
(C) Communism
(D) Rightwing Authoritarianism
‘Urs s [RF A+s 4 dre A4’ gsauA sl wd A3z 530 7
(A) Geludadl yslae
(B) WS alswdl
(© WHaE
D) A 2uyvedl
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10.

il

12,

13.

In ‘what is to be done’ ? (1902), V. I. Lenin propounded the doctrine of :
(A) Stateless, classless society

(B) Blue print of future Communist Society

(C} Dictatorship of the prolitariate

®) Vanguard role of the Communist Party

‘dic §» 2 ofl s’ (o) dlaus. R sul Rgld uQwled sul?

@)  uUzRdA, adadd 1uy

(B) ALuatdl Wil sl

(©)  Wusdll AR wmdl

® waadl vag Aga

Post Behavioural revolution was enunciated by David Easton in :

(A) 1963 (B) 1965

Cy 1967 ' D). 1969

py, ddatdl sila-ll g2 sRAs Sed s adxi 530 ¢
(A) ¢53 (B) q¢su

(C) aese @) Sk
Authoritative allocation of values propounded by :
(A) Easton (B) Lipset

(C) Dahl (D) Mcpherson
ARstAYSA Yeutt 2uduiadd Ruua s ¢

@A e+ (B) dlwd2
© sed D) Az

The classification of Western European party system as cadre and mass was
given by '

(A) Durverger \ (B) Dicey

(C) Sartori f (D) Blondell

YRl yiflun uat wgld 352 2 e adflsem sidl 2y ¢
(A §rRaiR B) St

(© ue D) sdirda

Montesquieu proposed the theory of separation of powers for promoting :
(A) Equality (B) Efficiency

(C) Rule of Law (D) Liberty

Wiad Ant Redve-u Rgladl daad wicuet sa 53 ¢

(A)  AMLrictl ®) sdamdl

(C) swueld WA D) Wdcl
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14. Consociational democracy is suggested for :
(A) Homogenius states . (B) Mass democracy
(C) Deeply divided society (D) Post-communist democracy
sl ada diswdldl buud 530 ¢
@) wadly uxdl (Hi-aa) B) wysad diswdl
©) 2w aadla Wy D) Ag-uaagl adlsul

15.  All the residual powers remains with the state and not with the centre in-
‘the Constitution of :

(A) Canada (B) Germany

(© India | ®) U.SA.

squ ol oelly AN Ul AR WA A Al 3 den @ )
(A) ¥nsl B) -l

(©) oird D) Y.,

.16, The Cabinet form of government is based on :
(A) Prime Minister’s Veto
(B) Individual Minister’s Responsibility
(C) Majority Approval
®) Collective Responsibility
sofld2 a3u-dl ASR sl GuR ald ©
(A)  uaix(ld dl2l Gy
B) alBdaud uail FAUUEL] BUR
(© agudll 2dudl Gy
@) Wy Faee Gur
17. The term political development is associated with :

(A) Brandt report (B) Gunnar Myrdal
(C) Lucian Pye D) Paul Sweezy
Agdld [@AsiadAl 2 sidl wd Asida ©

@) susle e (B) AU Ystd
©) eyfiat ws D) wa 1N
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18. Name the author of the book ‘The Power Elite’ :

(A) Ralph Miliband (B) Milton Friedman
(C) Amaritya Sen @M C. Wright Mills
‘4 g Adle’ Yaasdl dAvisd UM L

@A)  ues Mellers B) Hleed §lsi+

(©) il A @) Al. uden dlex

19. For a successful revolution, it 1s necessary to limit it to the political ambit
while excluding the social one is the view of :
(A) Trotsky “(B) Mao
(C) Fanon (D) Arendt
AFAAYdsl i w2 3 9330 9§ 3 a AlrsA cue sA0A AU wNaum|
Wyleld sl 2ud

(Aa) gl (B) Wil
© s D) U~
20. The concepts of a center and a peripheri is central to :
(A) Modernization theory (B) Neo-liberalism
(C) Social democracy (D) Dependency theory
5 A WRadl [Qeuadtl 3dd § :
a) u[Rsdart Rgia 0 (B) +laii-elorziellam w18
©) wulrs dlsuél wd @) el Rgid wa

21. The delimitation of Lok Sabha constituancies was postpond because of :
(A) Lack of concensus/zamongst political parties
(B) Constitutional limitations
(C) Opposition of the media and pressure groups
(D) Uneven population Growth
disuotll Hdelasti{l o Asfl sald Higs Mg usy o M 3
(a)  AFslu vainl addnd xenq
(B) olaefly uleil
(C)  MAR Ml A slegl g1t [ARig
D) AHdid adl aal
Pol. Sci—II 8




25.

22.

24.

Navanirman movement was aimed at :
(A) The peasants of India

(B) The Workers of India

(C) The Business Community

D) Corruption in Public Life
Aafule Aisian-dl asis :

(A)  Glldel vgdl WA edl

(B) LRl H¥ERL WA adl

© dwl @ wd edl

D) A @Al eidea W edl
Under which of the five year plans the introduction of Panchayati Raj in
India was suggested ?

(A) First Five Year Plan (B) Second Five Year Plan
(C) Third Five Year Plan (D) Fourth Five Year Plan
59 daadlu dig-umi otlami dauadl e yan wy ed?

(A  nad Jaqadly wus B) RBdla vuadla yie-u
© ddl yaanly dig-u O agd daadly yiw-

Which of the following political parties enjoy the distinction of having formed
the first non-congress government in an Indian State :

(A) DMK in Tamil Nadu (B) Akalis in Punjab

(C) Lok Dal in Utter Pradesh (M) Communist in Kerala

FostiBa Aol il sa AU ual cllrdedl s AUl Al nan G-
S0 wrstadl 2aue 5302

@A)  SLuM.3, dlRe-ugul B) wsidlen Pl
(C) disedl GranzaMi D) ARAULIAL FMi
Panchayati Raj was started in India in the year :

(A 1957 (B) 1952

© 1959 ®) 1951

gl daudl uw-l az2ud ¢

(A) . 19 A (B) 1&v Hi

(C) ACue M D) N1 M
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26.

27.

28.

29.

30.

A person can be a member of Cabinet without being a member of Parliament
for a maximum period of :

(A) Three months (B) Six months

(C) One year (D) Two years

AAEHL Aex yuL [t ulda 36ie-l uey agyi ag % Ay Yl ad 43 4
(A) =8 HIY (B) &9 HIA

(€ uAsad @ & o

Who was the Chairman of the first Finance Commission ?

(A) K. Santhanm (B) Sri. Niyogi

(C) Sri. A. K. Chanda (D) Dr. Rajamnnar

YA ST sRAAA ANA &l :

A = 3. Aaam ®) 30 Rl

© st .3, wel M) Si. UAPA~UR

Name the Prime Minister who never faced the Parliament and stepped down :
(A) Gulzarilal Nanda (B) Charan Singh

(C) Moaraji Desai D) I. K. Gujaral

4 asiuyln Auedl Al sal Q- o dlaril ol sdl ysdl sdi?
A) Janleua el B) ARy

(C) HRAWD WY | O 8.3, AU

Sarkaria Commission was setup to look into :

(A) Personnel Administration (B) Financial Administration
(C) Centre-State relations (D) None of these

AsRA sPadql &g ot ¢

@) s adlaz ® -Awidle adlae

©) 3ws-uy Adoial D) >wnidl sidua <l

The concept of ‘Congress System’ was given by :

(A) Atul Kohli (B) Paul Brass

(C) Rajni Kothari (D) D. D. Basu

‘S Al Reuwadt AR

A)  nga sisdl (B) uid sux

(© 2wl siad @) st.el. ony
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31. “Public Administration Consists of all those operations having for their purpose
the fulfiment or enforcement of Public Policy.” Who said it ?
(A) E. N. Gladden (B) L. D. White
(C) Fred W. Riggs (D) F. Goodnow
‘o33 adlazii ar R Aul Yol sl HR A 2Ha WAL ot o sl
(Bwxd) < Wuda i 8.7 2 sa-d sid 87

(a) .24, 2ds (B) Ad.sl. wude
(C) %S svey. o @) . Ys
32. " The Development Administration is primarily concerned with :
(A) Economic development - (B) Political development
(C) Social development (D) Technological development
sl adlazd youd siqdl wd Aol &7
@ s Asw - ®) uwdla RAsw
©) wulys Qs D) 2s-idisa [Qsin
33. Elton Mayo repreéents the school of :
(A) Human Relgt_ion (B) Scientific .Management
(C) Classici ' (D) None of these
Deet Adl W32 adlazui 58 Renavy Wl Asudan §?
A) wisa Aol | ® Asls duand |
© wela 3 sarlsa @) il siSua ol A% Al

34. Which of the fbllowing cduntries gives highest importance to ‘Specialist’ instead
of ‘Generalist’ ?
() India - (B) UK
(©) ~ United States (D) Pakistan
Ay, adlazsdl»ia oigd RRre fvded ¥ Rwudaid gaady ddlazsd»ia
auil uecd Al gy su1 2anl Al 2 97
(&) eta ' B) 4.3
(C) Y. A, - @) W3l
Pol. S —I1 11 | PTO.



35.

36.

37.

38.

It is generally believed that efficient span of control should :

(A) Dbe strict (B) be linient

(C) Dbe long (D) be short

Al As AU Audl 8 3 sidan ign A

a) 555 sldl AsA (B) Gelz sidl AsH
() aioll eidl RnsN M) 24 sidl A

Which one of the following Luther Gulick has not covered as administrative

function of the Chief Executive ?

(A) Staffing {B) Adjucating

(C) Directing ' (D) Coordinating

eqaur Rasal vd Y sRienAl adladl siabil d-l wudw ydl «fl?
(A) Adte sl B) sy Ysiel

© [gun @) Usar

Membership to Estimate Committee is drawn from :

(A) Rajya Sabha (B) From top Bureaucrates

(C) Lok Sabha and Rajya Sabha (D) Lok Sabha

gty AMla-dl - Axidl wy 37

A)  UzHASuAiA B) 62 sl adladldanidl

(C)  disuel A Al D) disucunigl

Who has defined burea(ucracy ‘as a system of administration, characterised
by expertness, impartiality and absence of human relationship ?

(A) Max Weber : (B) E. N. Gladden

(C) J. M. Pfiffner (@) E. E. Dimock

el Ned ‘adlael Al nar B qael &, Fud s, deRddl wa
Mire Aol AN’ U sl sut 97

(A)  AsA AR B) §.94. 288

©) %.94. [usaz D) §.9. Buis

Pol. Sci.—II 12
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39.

40.

41.

Administrative Reforms Commission recommanded for :
(A) Abolition of All India Services

(B) Functional Grouping of Generalist Services

(C) Abolition of only Generalist All India Services

(D) Favoured Continuation of Present Grading System
adladl e ¥ A0 elana s edl?

@A) M cudiy Aawidl gl

(B)  weirr Aawdil selagau o -l

© e oudly wmd Al uygl-l

@) adsud AL ugln g Aviard

What is the main purpose of creating the institution of Lok Pal and Lokayukta ?
(A) to propose administrative reforms

(B) to suggest legel reforms

(C) to check corruption in high offices

D) to identify the causes of delay in decision making
‘isuld A ‘elisiysa’ AL WAl &g sdt 97
Q) adlaz YarB Yadri

®  sedl yal s

(C) G2 Sl ezl Y vigl Ysauil

@ [Fula dadl aGusii adl da-t siel waar W
Which of the following models of international politics does not give central
importance to state as an actor ?

(A) Idealism or Libeyalism

{B) Realism

(C) International Society

D) Dependency

AR UMY AFHWUAL HiSelHil sl Hisa uwuA sdl 3 e a3 sy
Heed iual 17

(&) edale 3 Gelraie

@) umdale 3 ardade

(C)  MidAGA WY 3 AXAULAL -l WiSa

D) yRladoi
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42. Which of the following is not a correct statement about Game Theory ?

V)
®

(C)
0
‘ qa ’
(A)
®)
©)

D)

It is a branch of mathematics but is used in Social Sciences as well
It is used in predicting outcomes of war if preferences of states as actors
are known

It assumes that states are not rational

Realists have used game theory extensively

3o’ AL Rigid 2030 QA 2qual Rainidl 5y Qa0 el?
A Adma-dl As Al B ug A+l Gl axsRa-l vie wa wy
2

A sl 3 et wieoll wa us di Ye-ti wRenHiqdl 2uoudl s
Al Gudiot wa 8

Al wadl 3 el Al 9 3 Al s e 3 ofaona 3 s s
13

yaidauglail 3 ardaaiglsiial del vor Guuil sul 8

43. Below are given two statements, one is Assertion (A) and other is Reason
(R). State whether statements are correct and whether (R) is reason for (A)
or not by using codes given below :

Assertion (A) : Cold War became intense because two superpowers became

engaged in arms competition

Reason (R) : Cold War became intense because of tendency of two su-

(A)
B)
(©)
®)

perpowers to look at local issues in global terms
Both (A) and (R) are correct and (R) is correct explanation of (A)
Both (A) and (R) are correct but (R) is not explanation of (A)
(A) is correct but (R) is not
(A) is incorrect but (R) is correct

A Q4 famnl 20lai 9. d o WAL B F Ad 2w (R) A (A) WS sl2@A3Y
8 3 adl A Qaddi-l 02 2ular sisql Guion s el ¢

sis

(A)
(B)
©
D)

Pol. Sci.—I1

(A) ¥ (R) 6l wal 8 A (R) 2 (A) H2d s13a &
(A) 2 (R) o A 8 Y& (R) 3 (A) W24 5139 e}
(A) WY © u (R) g &

(R) A 9 Y (A) AE 8
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44.

45.

46.

The reason why states want UN to authorise military action against aggressors

is that :

(A) UN is a militarity powerful body

(B) Only that UN constitution can authorise action against aggressors

(C) That body takes quick action against aggressors |

(D) TUN action is considered legitimate because it represents the voice of
international community

2§55 AN Y-l gl o as?l woig Ay AN Uzl S B s b

(a) Yl sl gl alasuoll Wen &

(B) Mot A Yol sl usms WA wadl daidl Ao s3 8

(C) q AL 2UsHus WA »suell ‘talC;l; 4o

D) Y-l gl2t aqidg w@, flsd o © 5129 3 A (i) idR ztt;{lq AR~
ol Y 53 B

Nuclear Non-Poliferation Treaty (NPT) :

(A) has lapsed

(B) is being priedically revised

(C) has achieved permanent status

(D) has become defunct because many states have withdrawn from it

QA (B A

(a) eoidd S 8

B) avidl avid dd auaalel Yl ddi qauel 2AMaui ysasl »ud 9

© dd ed sl sraai wudl

D) adl uddct 89 zé} Al SR8l 3 gen AXEILL aizdl gL g wie s§
2]

Which of the following scholars described ‘Natrual Resources’ as ‘Shrinking

assets’ 7

(A) E. H. Carr (B) Hans Morgenthau

{C) Immanuel Kant (D) Harold and Margaret Sprout

gedl AR ‘uedl wdl 2suudl’ adls (1A caldal Rg-nidl s @A

vl 97

(A) S.9". 52 (B) <1 Hidl-yl

(©)  $Hyd st (D) &res A wAfe WG

Pol. Sci.—11 15 P.T.O.



47.

48,

49.

Pol. Sci.—II 16

50.

Which of the following are methods of peaceful settlement of disputes ? |

(A) Arbitration : (B) Mediation J
(C) Conciliation (D) All of these
el gilluu Ad wdigadl wglawinl a-t wuda iy 97 ‘
@A)  aagl B) Heell |
(© wwxla D) UMl otE-il

Which is head quarter of WT'O (World Trade Organization) ? ‘
(A) New York (B) Geneva X
(C) Washington D.C. (D) Hague |
[Qsa oz @ (WTO) 4 yvu uus sy 87

A) -uuis (B) -l

() aiglloe g1 D) &dl | }
Who said that war is a continuation of politics by other means ?

(A) Bismark (B) Henry the VIII

(C) Clausewitz D) Talleyrand

‘Yo B oflw waddidl wad LSRN U D7 2t U S B7

(a) [Brsus (B) &3l 2us (VIID

4

(©) sainl@en D) 24:US

‘Decision Making Theory’ is associated with :

£ & & o

(A) Andrew Linklater (B) Richard Synder

(C) Karl Deutsch (D) E. H. Carr

‘Pely daill uEul Rigid’ (Decision Making Theory) Si{l A sl 7 |
A) gy dirsaz: B) Aus #ss:

© sd sivy D) S.212, 53
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